Class: Date:

' ,,j;"’-f‘-hapter 8 TEST - Trigonometry - PRACTICE TEST.

Multlple Choice
Idennjfy the choice that best completes the statement or answers the question.

1.. Determine the length of this wheelchair ramp to the nearest hundredth of a metre.

a.

" __ USE PNTHAGORUS
AOWm 4 . a2
420m 4’2_ +.50=h
. * [47%+.5% = h . h= 472%
427m b, 653m - . c. 417m - 423m

2. Determine tan A dnd tan C.

fan '—_—if— 0 e
tan C 1y
a. tanAﬁ.l.g;tanC=O.6 . '@'-tanA=0.3;tan'C_=1.5'-‘7"
b. tan A =0.6; tan C= 0.8321... d. tanA?O.5547...;tanC= 1.5
3. Determine the tangent ratio for ZK. |
L M
24
145
K . .
24 24 145 143
S TR T © 24 %
USE PYTHAGOREAN THM. To FIND THE LENGTH DF LM..
‘ 145
7 .\ -
247+ ()= 145° bt KE 5
(MY = 145%-24* |
< < _
e & mm = [st-747%
SR |
R '\w(\'\g\' LM 143



Name:

4. Determine sin A and cos A to the nearest tenth. e '
c 24 - ;
- SNA= 25 =9

“ CosA ?O-oq

a sinA=3.1; cosA=09 c. sinA=0.3; cosA:'ILf-"

b. sinA=0.9; cosA=03 sin A=10.3; cos A=0.9
5. Determine.the measure of ZD to the ncgrest_ tenth of a degree. | |
D 12 _E 't:Cll’i D= = \%
6 : D= 'tarj“ (T%_) g
F . D = 26-6 ° |
@ 266> | b 30.0° R c 60.0° | 4 63.4°

6. Determine the measure of ZQ to the nearest tenth of a degree.

cos Q= .2?1]_

o a £ 9
Q= cos (=

Q= 646°

646° - b. f66._85 . c. 2540 d. 23.2°
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‘Name: . ' : _ _ S ID: A -

7. A 10 metre tall farmhouse is located 28.0 m away from a tree wnth an eagle s nest. The angle of eIevatlon from the
roof of the farmhouse to the eag]e s nest is 30°.

_ . o Ve
hat is the height of the eagle’s nest? o ‘ -'t(ln Z0°= 28m |

Zsjcan?so% X
X=16.2m

- = HEIGHT OF EAGLE S NEST 1S
[62m + |0m= 26.2m

a. 16m S @=-26m
b. 24m o d. 48m

8. Calculate the angle of mchnauon to the nearest tenth of a degree of a road with a grade of 7%
(2 rlse of 7m with a horlzontal change of 100m)

U - " Jtane=-l——i-
e LT tar (ko)
PREEI Com. .. .. o o
@ 4
a. 86° | b. 8 @ . d. 100°
| 9. Deterr_nine the length of side s to the nearest tenth of a millimetre. :
. | o 5' |
R SR chn 23°=
) ) o !8 3
' 33" ' 6=\ 2l mm
T 18.8mm s _
a. 15 § mm b. 289 mm . - . c. 102 mm . 122 mm



Name: ' _ ' ' ' ‘ ‘ ; 1D:

10 Determme the length of XY to the nearest tenth ofa cent1metre e

Y
s -
sm b7’ STE
q 7 5in 6’1‘ =Xy
: - | B6F
: Xy = e
a. 7.5cm 1.7.7 cm c. 452cm d. 209cm
11. Determine the length of MN to the nearest tenth of a centimetre.
' L L - © vETERMINE THE LENGTH OF THE CoMitoN SIPE
u W o
T COS 3\
Mo 715
? 6‘ COS '5\" = LN
: LN'— 6.45cm

@ UsING LN Fuw MN -
m-gl ?25 "'—'_—'> 6 43 smb’l z MN‘

BN B MN=42%cm
(3 5.0cm b. 3.0cm c. 24cm A 40em (
12. Determiﬁe the length of AC to the nearest tenth of a centimetre. XC = AB+ %'E_ by
A . = —7C C06€8°13Aé‘65 co552 ='z'
50m i 33500558 = A8 | 42(cos51° ;fc |
" N AB = 70.4cm '. .. B=759mm . 20A+759:4b3cm
a. 65.8 cm ’ b. 1]5.75 em - ¢ 308 om 463 cm |

I3. A ladder leans against the side of a building. The top of the ladder is 4.5 m from the ground. The base of the
ladder is 1.5 m from the wall. What angle, to the nearest degree, does the ladder make with the ground?

Ca 72° - b1 c. 16° d. 76°
. . _

- {qne R !

o : ot 4.5

45m ertan s

05— 72°

bEakee




Name: A

14. Determine the measure of /B to the nearest tenth of a 'degreé. o

A i3
i3
/_B 5N 22)
22 ' _ - L B= 50.6°

17

B 4 [] D R
C .
a. 78.8° b. 37.7° - - (&) 50.6° d. 394°
15. Determine the ]ength of side d to the nearest tenth of a centimetre. :
; o tan 26°= d
- , v WBem
frsem AJrqn% I[ %cm cl‘ L 232cm
: \ +cm A
a. 25.8cm 232 em c. 126 ;':c:n' 4 55cm
ShortAnsWer

£8B= tan 2 =50.2

16. Tan B = 1.2; determine the measure of ZB to the nearesf tenth of a degree.

17. a) For ZM in the tr’iangle below, label the hypotenuse and the opposite and adjacent sides.

: {Z
‘ Q) L APTACENT M ' ‘b) SN M = %—'7-‘
b)Find M o o | /12
| = SN (‘"’"
OFPOSITE 12  poTERGE I 7%
K : | (M=1849° o \9°

18. A ladder is 6 m long. It leans against a house. The base of the fadder is 1.6 m from the house What is the angle of
inclination of the ladder to the nearest tenth of a degree?. .

- |'b
Co50 _—m-,(;m |

EAY
o= (o5 “‘)
o= T45°|

5




Name: _

19. Determine the length of side r to the nearest tenth of a metre.

R | BAD s : .JCGY\ 230° = —f—
- 30° . o - - 25\ m_
: ~ (22Am) tn20" =
[ 133

T

20. Determine the measure of ZBCD. Answer to the nearest degree
. _ o

LACD =90 -9 = g1~

5|

tane = 8

/5)
emjcmn gg)
o= B%°

_ 21. How many degrees do all three angles of 2 triangle add up to? I%O e

,BcD= 81°+37° =118 °]

—
. "



